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1. BEIEHDES
(1DIEE R
ZWMEFE 17,037 16,503 534
ZWMHERE 17,037 16,503 534
BRI 6,981 6,762 219
EBRME 6,981 6,762 219
Fil IR 2% 4,800 4,759 41
Fil IR 2% 4,800 4,759 41
nEEIIE 3,000 2,800 200
nEEIIE 3,000 2,800 200
E=3 - 1,410 1,410 0
=& 1,410 1,410 0
e 280 330 A 50
e 280 330 A 50
wWEE 33,051 32,876 175
wHEE 33,051 32,876 175
AR ZE 899 899 0
U ZE 899 899 0
FRHE AR 7 (A) 67,458 66,339 1,119
Q)E=ZEH
DEXE 67,458 66,339 1,119
R 5,622 5,472 150
ik 2,808 2,969 A 161
L] 4,143 4,018 125
BEFL 2,444 2,346 98
S 750 600 150
REEFE 2,106 2,153 A 47
EFIE L 40 40 0
e 3ZEE 399 392 7
FHE 9,949 9,234 715
BiEE 939 887 52
RiRE 160 160 0
"EE 2,098 1,976 122
Eis ] 24,192 24,325 A 133
FERABRUVEEN 4,517 4,675 A 158
TA 2,257 2,257 0
fEmEBAE 194 192 2
BIESHBRURZ TS 3,747 3,748 Al
HHELR 1,078 880 198
HE 15 15 0
R A A EH(B) 67,458 66,339 1,119
(A) — (B) LRt 084E  (C) 0 0 0
2. BESNE R DET
(1FEE 51 R 7
RIS R 0 0 0
Q)FERENEH
R R 0 0 0
R B SR (D) 0 0 0
W3] E SR PERE AR () (C) +(D) 0 0 0
-5 I B B P ) e v (F) 6,247 3,466 2,781
EAE B PEHIR R & (G)  (B)+(F) 6,247 3,466 2,781
I 75 EGEEERDE
YR R B R AR (H) 0 0 0
FeE R I B (D 0 0 0
e ERMPEER AR () (D0 0 0 0
I FGHEHEXEZES (K) (G)+UJ) 6,247 3,466 2,781




